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QUESTION 1
When the default active Content Manager fails, which of the following occurs?

A. The system automatically activates all standby Content Managers, and spreads the load of requests based onthe
Weighted Round Robin load balancing mode.

B. The system automatically activates all standby Content Managers and spreads the load of requests across them all.
C. The system automatically switches to a standby Content Manager, and requests are directedto it.

D. Users are prompted to rerun failed requests on the initial Content Manager once it is back on line.

Correct Answer: C

There are 2 load balanced report servers.

The dispatcher on Computer X has the following characteristics:

FAM: 1024 MB
CPLU: Dual P4 1.5 Ghz
Hard drive: 80 GB

The dispatcher on Computer ¥ has the following characterisics:

RAM 2045 VB
CPU: Dual P4 28 Ghz
Hard drive; 80 GE

What would an administrator set the processing capacity on Computer Yto?
Al

B.2

QUESTION 2

When a namespace is no longer used for authentication, what must the administrator do to permanently remove itfrom
the content store?

A. Delete the namespace in IBM Cognos Administration, and then delete it in Cognos Configuration.
B. Delete the namespace in IBM Cognos Configuration only.

C. Delete the namespace in IBM Cognos Configuration, and then delete itin IBM Cognos Administration.
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D. Delete the namespace in IBM Cognos Administration only.

Correct Answer: C

QUESTION 3

Which system metric for the Report Service would the administrator set as having a performance pattern of "Low values
are good"?

A. Queue length high watermark

B. Percentage of successful requests
C. Number of successful requests

D. Successful requests perminute

Correct Answer: A

QUESTION 4

Which statement is true about the definition of the Application tier?

A. The Application tier hosts the dispatcher and content manager that reside in a servlet container.

B. The Application tier hoststhe dispatcher, which includes the IBM Cognos Application Firewall and Access Manager.
C. The Application tier hosts the Bl server and the content store.

D. The Application tier hosts the content manager, which contains data such as a report specification,IBM Cognos
namespace, and so on.

Correct Answer: B

Below is a partial diagram of the processing that occurs when a user launches saved output in IBM Cognos Connection
and views it in IBM Cognos Viewer.

Content
Manager

Gateway Dispatcher

At the level of the dispatcher, which of the IBM Cognos Bl services is used to process the request?
A. Report service
B. Presentation service

C. Batch report service
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D. Delivery service

QUESTION 5

At what level should the logging be set to capture the following set of details? user account management and runtime
usage of IBM Cognos BI, use requests, and service requests and responses.

A. Trace
B. Basic
C. Request
D. Minimal

Correct Answer: C
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